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(We]) = 1 x 12 x 20 X sin 70°

= §x12x20><0.94
=112.8 =113
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/EDA = 30°
AD =DC = x 2} 6}9H

ED = AD X cos 30° = \/73)5

AE = AD X cos60° = %x
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(AAgE BE o] Yo])= 5 X 7x2 X 8in(120°) = 24
3 5

—x“ =24
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sox=8(cm)
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ola

cos(2x —30°) =
0°<x<90°)

©O° @30° ® 45° @ 60°
B

® 90°

cos(2x - 30°) = \/75 = cos30° = cos(—30°)

2x-30°=30°, 2x-30°=-30°
Sx=30°0°
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OABCD = 10 x 8 X sin 60°

:10x8x\/7§:40\/§(cm2)

. AABM = 1|:|ABCD

= Zx40\/§
:10\/5 (cm2
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AH — ABsin 60° = 10 x X2 — 5 Vi(em)

BH = ABcos60° = IOX%:E)(cm)
AH:DB=HC:BC
5vV3:DB=9:4
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BD = 9 (cm)




